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73 ox st EFE 8 (ke) 1R #Y3 AE%tERB|
a—k ZN=| H#Y5E | BRI | Bfke) | SEFM) | PEM) | REMA) | SEE) | PEE | LEE)
13010072V A T 14,104
130100|7 W A FzE 6,650 0 5,100 10 3,240 648
13010072V A FLE 629 0 620 10 2,052 864
130100|7 W A 0 5,760 0 5,760 12 1,890 1,080
13010072V A ) 105 0 105 15 2,160
130340 ICA LA HE 12,160
130340 ICA LA FLE 3,170 0 3,170 10 2,916 864
130340 ICA LA = 8,580 0 8,580 10 2,916 1,620
130400| 1% 5 T 1,807
130400 1% 5 5% 1,614 1,614 10 3,024 1,566
13040021 5 K53 45 45 0.15 151
1304001 5 = i 8 4 2 2,376
130600|1LA Z A T 1,375
130600{1L A T A = 1,375 0 1,275 5 5,616 1,080
131100|H % 1 26,088
131100| B3 I, 15,183 6,858| 15 2,700 864
131100| B3 R 4,620 4,620 15 1,836 1,404
131700(%F v~ e 57,392
131700|F v+ R 25 19,720 o 15,380 10 2,808 1,296
131700(%F v~ FLE 27,492 o 24,292 10 1,944 670
131700|F v+ R R 3,700 0 3,700 10 1,620 1,188
131800(I1F 3 A E e 3,117
131800(IF S NWAE Iz B8 2,160 0 2,084 3.6 3,240 1,512
131800(I1F 5 WA= & 614 560 0] 0.2 181 76




131800(I1F 3 A E & 180 0 180 0.18 86
131910(F R & T 2,692

131910(Fh & KR 26 0 26| 0.045 65 62
131910(F R & Ly 230 0 230 1 810 432
131910(Fh & =1 2,088 0 2,088] 10 2,754 2,052
131950|H A & HE 4,316

131950(B A& FI 195 0 15 5 2,268

131950(A R & S 125 0 25 5 2,160

131950(B A& SE 2,720 0 2,226 3 1,620 756
131950(A R & R 480 0 480 3 1,458

131950|B A& BRE 411 0 411 3 1,458 1,350
133400(L % X e 31,110

133400(L % 2 R 4,920 0 4,772 10 1,944 972
133400(L % X FLE 23,140 0| 19,690 10 2,808 1,188
134100 |#8/1 wa 29,768

134100 (&A1 S 6,670 0 6,070 5 1,944 1,350
134100 |#8/1 =1 2,305 0 2,305 5 1,944 1,296
134100|#A/1 iR 4,585 0 4,375 5 2,052 1,350
134100 |88/ Syl 1,250 0 550 5 1,944 1,512
134100|#A/1 = 13,083 0| 11,063 5 2,106 1,080
134200|m M wa 2,610

134200|FE /M —a—-Y—-5vF 2,610 0 2,610 10 2,376 1,674
134300 (%6 F wa 14,766

134300567 e 2,658 2,658 2 972 540
134300 (%6 F Syl 10,549 10,255 0.3 119 97
134300(#6F B 1,008 961| 0.3 157 146
134400| k< k wa 19,798

134400| k= b+ FLE 1,940 1,940 324 292
134400| k< k Ri% 4,569 4,569 1,512 1,188
134400| k= b+ REAR 13,239 13,239 1,512 1,080




134500 "=~ ~ o 11,149

134500 &' —~ > = Al 4,129 4,005 0.15 97 76
134500 "=~ ~ =I5 5,740 5740( 0.13 92 65
135100| W A LT A ¥ 70

135100 WA F A RS 40 40 2 2,862
135200|%= ¥ 28

135200|%= BS 24 24 2 3,348 3,186
135300 &"— X ¥ 416

135300|— X AL 30 30 2 2,160 756
136100(AA L & ¥ 20,435

136100[HA L & ZI, 14,795 4,880 5 1,966 648
136100(AA L & ®s 5,605 4,975 5 2,160 432
136200| %5 o 10,650

136200(F % K& 2,090 2,090 10 2,128 1,112
136200|inE RS 8,560 8,540 10 3,445 1,426
136210( X —7 1 ~ ¥ 2,300

136210| X —27 4 >~ RS 2,300 2,300 10 4,104 3,024
136300|2F ¥ 370

136300| 2% RS 10 10 2 2,160
136600|7z & fo# 37,175

136600|7- & =& 36,855 36,855 10 2,754 432
138100(& L W /o lF ¥ 1,036

138100|& L Wiz lF ] L 152 152| 0.08 73
138100(& L W /o lF w5 801 801 0.2 281 108
138500| L& LE o 1,079

138500(L® LE Esig 1,062 948 0.2 89 81
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a—k A A8 #U%k | w5l | Bfike) REm) | 2| | SEE | eEm | zEm)
241260 HEZh A 580
241260 HEZh A 360 310[ 10 1,588 1,134
241260 HEZh A 220 220] 10 1,944
2423201 3 F 33— F 180
242320(¢ 3 73— L K 180 0 180 10 4,320 4,104
242830(.5L W AT 170
242830[3 LW A 170 0 150 10 5,400
24401017 XH b 7
244010 21 % 7 0 ol 035
245220757 =7 7
24522075 % = 7 7 0 4l 04 1,620
246000\ b & 16,817
246000[L 6 = 406 26 381 0.25 173 432 194
246000| b = 1,393 ol 1267 o025 324 194
246000[L 6 = 3,073 ol 2774] o027 432 173
246000| b = 5,339 ol 5150 025 378 162
246000[L 6 = 6,606 ol 6009 025 302 140
2471007 —ILR A A v 269
2471007 — L2 x> 270 0 270 9 12,960 5,400
2478917 4 v o —x o g 820
2474915 4 vy — 4 A 820 0 720 5 4,320 3,672
24830075 1\ 1,243
248300 |7 M 7,233 ol 598 15 7,020 3,240




